
munla Gomeet digils. 

Caminalig 

ae 

ashre o ahe tu digil tta amlear a (ol'o,),2, 9), tu lendig digit to amd mh an 

saeh mit. 

3 

þoailian 

3141.59 3x\0 +1x ID +4X)D+|X0+ SY0 
+9x10 

a anitten as hu deiml nlin ) amd has 

linminling 

n tae amler a). for 

2 

A 

|0 + 

dauimads 

ele. 

) 

2) 



mamleer. To ihm 

k= 2xo 

umler 

Aigil 

ers 

herve 

ttu mumlr 

at ttu 

h =xo+0xlb+ x0+0xb= 0. 60 Yo10 

igit 

digit, non2e 

6 

þoint ahe net t le Conidhd ignitca igilt, 

Kaca ace haedes, t miialt avelaid 

lies llaen tu diglr 
mnat mamler. ta kant diot 

tu 

ta deeid ponl 

tu 

ad 0, 00208 ahe no tu Aam, le tamie tiu 

0. 0020&o nal 



De 
aptotimt mumls. 

toroxinli mly 

Covet digl 
rialli 

dave 

ten lug deidim tu tirstn digil osn, o, 
2 

tu linidn. 

Comat dils 

Goel. 

apprximall num leay' a 

tte nemlr 

hau 

hx-4. Jue muml a=23.0193? Gnlain ie vdid 



valid ails 
a ahe valid and owd off tu mamlr a laanp oly 

O.3 0,xt4H 0.5 

ralid 

Heve m=2, 44= 0,3 and n mmst lefond frar 

Jheorm 

Lror 

digils 

034 0.5 X|0 

ahere 
umlr a. 

ot tu umler a = 405.198 

Aa &xlo 

Comcmeny the mumlur a =to5.1978 hs th 

3-n 

2-3+{ 

tu 

milil e ad ttu vomdip emor : 4a =03+O1 978 
=0.4978, amd Ao 

and tu git 

prsilva atorima+ mum levhs 

tin mamley dosnot exced 

fit 

ttu 

n Comed 



it ttu 

mwmly a 

ene 

umlar 

troimaT mumkay 

A = A-xlo 

Aa-xI0 

8= 

2 

2 

A 

*>4*1o"(24 ) 

reblaca uy a nller mumley a, lD a o 

|D 

otlay otagthind tu 

(Mai) 

1 



{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

